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Term End Examination, 2017-18

ECONOMICS
Paper - II

Quantitative Methods

Time : Three Hours] [Maximum Marks : 100
[Minimum Pass Marks : 36
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Note : Answer any five questions. All questions carry
equal marks.

1. U fagma @ o9 = 9Hwd €2 WA
fogrd &1 Arad, "ee e EH foafeu
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What do you understand by Game Theory ?
Write assumptions, importance and

limitations of Game Theory.

2. 19 W@ YT @ R’ wHed § 2 W@
TfeT o o= ‘U @ T’ &
e &l qofdar |HeEmET |

What do you wunderstand by linear
programming ? Explain fully the concept of
a ‘process or activity’ under linear
programming.

3. fTrfafed groft & kel w1 fowwar o
RICEECHIS 1L

SmTafawm [ 0 |15 | 30| 45| 60| 75 | 90 | 105

B i F&A | 150 [140 | 100 80| 70| 30 [ 14 | 0

From the following table compute Bowley’s

coefficient of skewness :

Marks more than| O [ 15 [ 30 [ 45 | 60| 75 | 90 [105

No. of Students | 150 {140 | 100] 80 | 70 | 30 | 14 [ O
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4. TAfafed wHel ¥ ®ifc FB-T=-Y O

IREQISLE

X |115]1109)112| 87| 98 | 98 [120]|100] 98 | 118

Y 757318 | 707665 |82 |73 ]68 |80

From the following data calculate rank

correlation of coefficient :

X [115]109|112] 87| 98 [ 98 | 120| 100| 98 | 118

Y | 7517318 | 7017616582 73|68 | 80

5. 9 ww 5o & fafi= auf &t SAEen <
TE B 1975 hl SEEN JA hIfST |

EL] 1951 | 1961 | 1971 | 1981 | 1991

STEEn (arEi §) | 70 90 360 | 140 | 160

The population of a district is given bellow

for different years. Find the population for
1975 :

Years 1951 | 1961 | 1971 | 1981 | 1991

Population (in Lakhs) | 70 | 90 | 360 | 140 | 160
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yifaeRar &t 9w <ifsw iR wifersa o
TY STIYURUN & U ohi AR iU |

Define Probability and explain the importance
of this concept in Statistics.

[ (a3

frefafea g9l ¥ R &1 3Ty Y=dhis
TRepferd sy R fag HifST fF a8 o1
A THI-ICHIFAAT TS - Sohiadl  TRI&To
e FA ®

YR aH EIGECL

aﬁ (a (a)

ch[Hd HIAL chHd HIAL
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

From the following data calculate the Fisher’s
Ideal Index Number and prove that it satisfies
the time-reversal test and factor-reversal test :
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Base Year Current Year
Commodity
Price | Quantity | Price |Quantity

A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

8. = @ ™ siwel ¥ =Aam o fafy gw
WA @ ITAM Je= . TUAT HITI 1993
% fau ey saa &It -

EL 1984 (198511986 | 1987 {1988 11989 |1990 | 1991

A (@ H)| S6 | 55|51 |47 |42 |38 |35 | 3

From the following data compute the trend
values by the method of least squares. Also
estimate profit for 1993 :

Year 1984 11985 [1986 [ 1987 [ 1988 {1989 11990 | 1991

Profit R in Lakh)| 56 | 55 | 51 | 47 | 42 |38 [35 | 32
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9. G TdeIU &l UG & ®9 H Yid=ad
% 3T TE ylafei &1 faeem s

Discuss the objects and techniques of
sampling as a method of statistical survey.

10. T® T ¥ difed 200 RN & STER &
gy ¥ 9 goa & YR W daRt 6
HT 1 YR YEFERETT 3YER a'ﬁ qacinl ﬁ
Mehd ITH T2 AW URUM ® 5%
dRal W W y2 & GRI T HifST |
(W @& 1 % faw y2 0.05 = 3.841) |

SYIR | ga Ufafhan | s gfafshanr =& | A

LRIl 60 20 80
TR 70 50 120
T 130 70 200

On the basis of the information given below
about treatment of 200 patients suffering from
a disease, state whether the new treatment is
comparatively superior to the conventional
treatment. Test your result with the help of
2 at 5% level of significance (for 1.d.f.
v 0.05 = 3.841).
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Treatment | Favourable Response | No Response | Total
New 60 20 80
Conventional 70 50 120
Total 130 70 200
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